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(A) 3x+4y=-6

(B) 3x-4y=-6

(C) 4x+3y=-8

(D) 4x-3y=-8

. €0s(—240°) +sin330° x tan 945° = 7
(A) -3
(B) -2
(C) -1
(D) 0

. ¢ T AABCY > /A=60°, AB=3, AC=5" RIBC="
(A) V11

(B) V13

(C) 4

(D) V19

Lxk A e A=(34)8 B:(Z,_l) » ] 3a+5b="?
(A) (19,7)
(B) (215)
(C) (21,17)
(D) (7,19)

eI b= BEA(L, 2), B(3,1), C(a, b): & LABC=90°’ Rl 2a—-b="
(A) 3
(B) 4
(C) 5
(D) 6
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(A) -10

(B) -2

(C) 8

(D) 20
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9. X a=2"b=4°c=8 Rlabci* | 5 #?
(A) a>b>c
(B) b>a>c
(C) c>a>b
(D) a>c>b

10.% a=log3, b=log4 * R 20 = ?
(A) V3
(B) 5
(C) 3
(D) 5

11. 2 538 x®>x2 f& 5 @ 7
(A) x<1
(B) x>1
(C) 0<x<1
(D) x<0& x>1
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(A) 12
(B) 16
(C) 24
(D) 32

13.2 [l x*+y?=10x+10y—458 £ R y=—mxF + F 2 B » A mehdk =
s e ?

(A) 1

(B)
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(A) (x+1)°+(y-1)*=100
(B) (x=1)%+(y+1)°=100
(C) (x+1)?+(y-1)*=25
(D) (x-1)*+(y+1)*=25

15. @ v % £ % B 749+11+---+(2n—-1)=2016 * Rl n="?
(A) 44
(B) 45
(C) 46
(D) 47
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(A) 360
(B) 720
(C) 1440
(D) 5040
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(A) 4
(B) 5
(C) 6
(D) 7
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(A) 18
(B) 21
(C) 24
(D) 27
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(A) 200
(B) 300
(C) 400
(D) 500



